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(FA) 1 Frf#hag 2 654,270,000 622,554,064 0
(B)1 Ff#higs 637,128,000 606,182,565 0
2 BREIiE K —E 17,142,000 16,371,499 0
GR)T7 1% 5,438,917,000 5,217,157,775 0
(IE)1 pa 1% 5,438,917,000 5,217,157,775 0
(A1 pETHRBE 1,166,929,000 1,165,169,044 0
2 PHIEIRELE 318,924,000 307,472,384 0
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6 JESEHRHLE 12,350,000 10,641,829 0
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G 1 JPEENA 1,773,520,000 1,773,134,504 A 385,496
(TH) 1 FfpEE I 75,930,000 75,547,406 A 382,594
(H)1 WMESMIA 75,930,000 75,547,406 A 382,594
()2 [T 1,697,590,000 1,697,587,098 A 2,902
(H)1 AREHFETEFAIA 1,697,590,000 1,697,587,098 A 2,902
GR)2 M4 118,334,000 111,845,506 A 6,488,494
()1 —fERFHRAE 118,334,000 111,845,506 A 6,488,494
(H)1 — =it 4e 118,334,000 111,845,506 A 6,488,494
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()4 FEIA 2,325,000 260,314 A 2,064,686
()1 MEer]+ 1,000 107 A 893
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(TH)2 HMEA 2,324,000 260,207 A 2,063,793
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